## Change Order # 1

Date: \_\_\_\_\_

Project: <u>22-25-009 – TSPLOST Intersection – Kolic Helmey at SEES</u> Contract Date: May 17, 2022 Change Order Effective Date: October 4, 2022 Griffin Contracting, Inc. Change Order Issued to: 122 Pipemakers Circle Pooler, GA 31322 You are directed to make the following changes to this Contract. ITEM NO. **DESCRIPTION** Total Re-Design needed for Intersection -\$165,677.08 -Breakdown on the attached documentation TOTAL \$165,677.08 The original Contract Sum was.....\$ 677,804.00 Net change by previously authorized Change Orders.....\$0 The Contract Sum prior to this Change Order was......\$ 677,804.00 The Contract Sum will be increased by this Change Order.....\$ 165,677.08 The Contract Time will be increased by **0** days Only non-traffic related punch list work remains, completion scheduled for next week. Owner Contractor Effingham County Board of Commissioners Griffin Contracting, Inc. 804 S. Laurel Street 122 Pipemakers Circle Springfield, GA 31329 Pooler, GA 31322 By: \_\_\_\_\_ By: \_\_\_\_\_

Date: \_\_\_\_\_



September 23, 2022

Mr. R.M. "Rip" Graham Roberts Civil Engineering 301 Sea Island Road, Suite 10 St. Simons Island, GA 31522

Re: TSPLOST Intersection Kolic Helmey & SEES Change Order # 1 Request per Re-Design Changes

Dear Mr. Graham

Per the revised plans dated 07/05/22 on the TSPLOST Kolic Helmey Intersection Project, we are requesting a change order in the amount of \$ 165,677.08. Please see the attached breakdowns showing the increases and deductions from the original contract/plans.

Please let me know if you need any additional information.

Sincerely,

Chris Davis

Project Manager/Secretary Griffin Contracting, Inc PROJECT: TSPLOST Intersection - Kolic Helmey at SEES

LOCATION: Effingham County, Georgia GRIFFIN JOB # 22041

Re-Design Change Order # 1

BID FORM										
	201	0								
Item	Description	Quantity	Units	Unit Price		Total				
1	Traffic Control	1.00	LS	\$	8,200.00	\$	8,200.00			
2	Grading Complete	1.00	LS	\$	46,630.00	\$	57,030.00			
4	8" GAB	727.00	SY	\$	38.00	\$	27,626.00			
5	Asphalt Leveling	160.56	TN	\$	190.00	\$	30,506.40			
6	2" Asphalt Surface Course 12.5 MM SP	312.09	TN	\$	152.00	\$	47,437.68			
7	5" Solid Yellow Stripe	5,277.00	LF	\$	0.50	\$	2,638.50			
8	5" Solid White Stripe	493.00	LF	\$	0.50	\$	246.50			
9	5" Skip Yellow Stripe	-1,466.00	LF	\$	0.50	\$	(733.00)			
10	Stop Bar	-2.00	EA	\$	60.00	\$	(120.00)			
11	Pavement Arrow	2.00	EA	\$	50.00	\$	100.00			
12	Solid Yellow Hashing Stripe	809.00	SY	\$	3.00	\$	2,427.00			
13	5" Skip White Stripe	408.00	GLF	\$	0.50	\$	204.00			
14	Traffic Signage (Including Post)	3	EA	\$	300.00	\$	900.00			
15	24" RCP	-42	LF	\$	100.00	\$	(4,200.00)			
16	18" RCP	62	LF	\$	75.00	\$	4,650.00			
17	30" RCP	8	LF	\$	122.00	\$	976.00			
18	30" Flared End Section	1	EA	\$	1,500.00	\$	1,500.00			
19	Rip Rap	-1,274	SF	\$	12.00	\$	(15,288.00)			
20	Removal of Unsuitable Material	-50	CY	\$	30.00	\$	(1,500.00)			
21	Imported Fill	-50	CY	\$	36.00	\$	(1,800.00)			
22	Concrete Pavement	-1,107	SF	\$	12.00	\$	(13,284.00)			
23	Fence/Gate Work - Subcontractor	1	LS	\$	18,160.00	\$	18,160.00			
GRAND TOTAL										

## **LUMP SUM PRICES NOTES:**

Traffic Control price includes additional materials & labor due to extra length of project site.

Traffic Control price also includes cost of additional temporary striping.

Grading Complete includes the extra pavement demoltion of the school entrances, additional clearing, additional surveying, additional rough grading & fine grading for larger areas, and all of the Storm Drainage Changes - PLEASE SEE ATTACHED BREAKDOWN

Fence/Gate work price includes the removal of existing fencing & gates, supply & installation of temporary gates, and installation of new fencing & larger galvanized rolling gates.

PROJECT: TSPLOST Intersection - Kolic Helmey at SEES

LOCATION: Effingham County, Georgia

**GRIFFIN JOB # 22041** 

## REDESIGN ADDITONAL GRADING BREAKDOWN

BID FORM										
Item	Description	Quantity	Units	Unit Price		Total				
1	Extra Surveying	1.00	LS	\$	7,500.00	\$	7,500.00			
2	Demo 3 Asphalt School Driveway Entrances	555.00	SY	\$	25.00	\$	13,875.00			
3	Rough Grading - Added Grass Shoulders	1530.00	LF	\$	5.00	\$	7,650.00			
4	Rough Grading Areas for Additional Asphalt	727.00	SY	\$	10.00	\$	7,270.00			
5	Delete Ditches North Side of Project	-1035.00	LF	\$	10.00	\$	(10,350.00)			
6	Add Ditches South Side of Project	815.00	LF	\$	10.00	\$	8,150.00			
7	Storm Changes - Delete Manholes	-1.00	LS	\$	9,900.00	\$	(9,900.00)			
8	Storm Changes - Add 2 Large Poured in Place Boxes	1.00	LS	\$	17,300.00	\$	17,300.00			
9	Extra Clearing	1.00	LS	\$	1,500.00	\$	1,500.00			
10	Regrade & Add Stone for Slope Correction	1.00	LS	\$	10,400.00	\$	10,400.00			
11	Fine Grading Areas for Additional Asphalt	727.00	SY	\$	5.00	\$	3,635.00			
	\$	57,030.00								